
          



      –         

      –          

         

         

𝑓(𝑥) = 4𝑥 − 1 𝑔(𝑥) = 
2
𝑥2 + 4 ℎ(𝑥) = −3 𝑗(𝑥) = −3𝑥 + 5



                
       

     

  
    
  
   
   
    
she doesn’t ever 
 



                

  
     

             
   

                  
       

   – 
       

              

   

  

  

𝑥 → −∞         𝑥 → ∞

𝑦 →                 𝑦 →


 


 




